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2D A triangle has vertices A (1,2),B(4,4)and C (6, 2).
(@  Draw triangle ABC on the grid provided. (1mark)
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(b)  Construct the image triangle A'B'C' image of triangle ABC under a rma:ia::(n2 2}2 ?II:;') :
clockwise about the origin.
v k () Draw triangle A""B"'C"' the image of triangle AIB'C' under a reflection in Ei;:n _:r :s;}g, state
‘the coordinates of A"B!'C"
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(b) Draw triangle A" IBMICH! the image of triangle A"B''C"* under a reflection ig 1hc]iir)1e y= 0
i i arks
and state the coordinates of its vertices. (2m
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Describe a single transformation that maps triangle AVB'C" onto tniangle ABC.
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